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The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following : 1x8=8
SREIRS TeT Bl 8

(a) State the main difference between a
parameter and a statistic.

Sifbe] S ST el AT ot |

(b) For the following data, obtain the value
of the mode : '

w5q SANEIRS T W T =0
54 65 55 65 53 54 51 57 65 53
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(9)

Distinguish between Simple Arithmetic

Mean (SAM) and Weighted Arithmetic
Mean (WAM).

gj?ctwmmwwwmonw
I

“Index numbers reflect weights of
different commodities,”

(Write True or False)
Ww\wﬁﬁ%am@awm—mr’
(51 & gy f%zf/)

Financial Dualism implies the
coexistence of and

| (Rl in the blanks)
R e < R
ECE T (Ut 32 o 7=1)
Define dlsgulsed unemployment.
e FRRR et foran

The HDI 2010 ig th
e GM
normalised indices, /AM of

(Choose the Correct option)

HDI 2010 T MNPS 1 M /Am|

(% Bevthr 9% Geveny)
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(h)

Economic growth is a broader/narrower
concept than economic development.
(Choose the correct option)

QST 3fa T wdftalos Remies 3=/ (0%
G 4R | (o%Co! AR Clrsdy)

Answer any six from the fellowing

(b)
(c)

(d)

‘questions : 2x6=12
&R Al ZEbt @ Tel ﬁﬁn
(a) Point out two main differences between

primary and secondary data.
2o oI (T S 707 eAdi A o

Explain briefly the method of stratified
random sampling.

TIPS Ao eformf w0 L 1t <=t |

Mention two uses of the cost of living
index number. '

- GRA YRON T PR 70 7T B 74|

Mention the significance of purchasing
power parity.

TR ST leeRf Bl
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(e) Deﬁn_é ‘Sustainable Development’.
‘T TAE'S TR |

(! What is dempgraphic dividend ?
SRR wrer e

(g} Write any two demographlc features of
India.

SR R 7 el T B
(b What is meant by a Financial System ?
e 377 I B o

() Distinguish between moﬁey market and
‘ capital market.

@ IR S TR TG~ fora
| () Define agricultural labour households.
FRINGT 2o oifRaer et ot

3. Answer any four from the following :

5%4=20

o ol Reet sIRGI Bes By o

(@) From the following table, calculate the

" median marks obtamed by the
students.

BO2FN 0017 - 4

WWWWWWS{WW
9 91 |

Marks 30-40 | 40-50 | 50-60 | 60-70 | 70-80 | 80-90 | 90-100
kK A .
No. of Students 2 3 |20 |32 2% 7
PSR
(b) What is an index number ? What are
its main features? 2+3=35
B3 WY e TWR gaR WRYER & &2
(c) Calculate cost of living index number
from the following data :
, wswwsﬁmmqammﬂw
12
Article (&) Price () | Rs. (5!) | Weights (2R)
‘ 2010 2020
Food (per kg) 20.00 2400 4
I (oo )
Cloth (per meter) - 1.25 1.50 3
i (2o fR)
Rent (per rcom) 9.00 8.00 2
(1 o) |
Miscellaneous {per unitj |  2.00 2.00 1
T (2 )
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(d) Why is PCI not a good index of _ _ 4. Answer any two from the following

. BO2FN 0017 | 6

economic development ? Discuss. " questions : \ 10x2=20
PCI SfeT Reprit @8 ©fet 7353 o w1z e O SRIRE o’ Rt g e ot ¢
SICTIoA 4 | ' _
) {a) What does a measure of dispersion
(e) Differentiate between economic growth indicate ? Name the different measures
and economic development, of dispersion. For the following data,
WW?@WE{W@W {1l vl | obtain the value of the variance.
, ' - 142+7=10
() Highlight the components of a financial WW%W?WN’WWWI
’ tem. ' : '
system oY BRI AW [oggow IW el =)
R8Ix g/ ST By Rewet Fa Age Group - [ 5-7 | 8-10| 11-13 [14-16 | 17-19
(9) Ilustrate the key elements of a well- '
functioning financial system. | No. of Students| 10 8 7 13 2
FIER RER IR 31 Bomieaia 31 541 _ .
(h) Explain the sector-wise Comf)osition of (b) Exam?qe the relative meri.ts and
. In dia’s‘. GDP. How does this sectoral demerits of complete enflmera.tmn and
 composition affect overall economic .sa.mp.le survey. Explgl? briefly the
growth ? ' principal steps taken in a sample
3+2=5 survey. ~ 5+5=10
OS] GDP-I ¥e91% M a1 gy |- ' . ‘
5 Forzn e Sy Ralhi s Frfef ol W% el IR wemiETs ARd
- s 3fes ererm . % SERYEIR By 311 1 2w s 19
Y FIER P 1A
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() What are the essential components of
HDI ? Explain the method of calculating

HDL 4+6=10 -
HDI-¥ ARSI SRR & &2 HDI ol=ig
dAzfs Pt 1A |

(d) Discuss the trend of national income
and per capita income of India. Analyse
the factors influencing the growth rate
of national income and its implications
for economic development. 4+6=10

OIS SO S SIF TR SIS LI Sl
T | SO SIS SR (TR TSR Rl
1 wiF ST Rore ciRrRe Afdel
[ 9

(e} Discuss the Tole played by financial
- system in the functioning of an

economy. |
43 ST IrfRere /e R o
T A
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